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143. The parameters of the inverse Pareto distribution 
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are to be estimated using the method of moments based on the following data: 
 

15 45 140 250 560 1340 
 
 
Estimate �  by matching kth moments with k = 1�  and k = 2� . 
 
 
(A) Less than 1 

 
(B) At least 1, but less than 5 

 
(C) At least 5, but less than 25 

 
(D) At least 25, but less than 50 

 
(E) At least 50 

144. A sample of claim amounts is {300, 600, 1500}.  By applying the deductible to this sample, 
the loss elimination ratio for a deductible of 100 per claim is estimated to be 0.125.   
 
You are given the following simulations from the sample: 
 

Simulation   Claim Amounts 
  1    600   600 1500 
  2  1500   300 1500 
  3  1500   300   600 
  4    600   600   300 
  5    600   300 1500 
  6    600   600 1500 
  7  1500 1500 1500 
  8  1500   300 1500 
  9    300   600   300 
10    600   600   600 

 
 
Determine the bootstrap approximation to the mean square error of the estimate. 
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(A) 0.003 
 
(B) 0.010 
 
(C) 0.021 
 
(D) 0.054 
 
(E) 0.081 

145. You are given the following commercial automobile policy experience: 
 

 Company Year 1 Year 2 Year 3 
Losses 
Number of Automobiles I  50,000 

      100 
  50,000 
       200 

? 
? 

Losses 
Number of Automobiles II ? 

? 
150,000 
       500 

150,000 
       300 

Losses 
Number of Automobiles III 150,000 

         50 
? 
? 

150,000 
       150 

 
 
Determine the nonparametric empirical Bayes credibility factor, Z, for Company III. 
 
 
(A) Less than 0.2  
 
(B) At least 0.2, but less than 0.4 
 
(C) At least 0.4, but less than 0.6 
 
(D) At least 0.6, but less than 0.8 
 
(E) At least 0.8 
 


